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t Semester MBA Degree Exa{qiﬁgﬁ(;n, Jan./Feb. 2023
Business Statistics

Note: 1. Answer any FOURf@%quesnonsﬁ’om QNo 1to Q No.7.

2. Question No. 8 is'compulsory. -
3. Useof standam&moﬁmal tables, t—dtstnbatww, critical values of

F—dzstrtbutw@Wles is permitted. %

1 a. Explain merits and demefﬁ@*of Harmonic Mean and%gf@*e the relation between Arithmetic
Mean, Geometric Meamand Harmonic Mean. & 8 (03 Marks)
b. From the prices X and*Y of shares A and B respe,ctwely given below. State which share is

more stable in valuer.

Price of share A, X | 55 | 54 | 52 5%"'@ 58 | 52 | 50 | 51 | 49
Pnceofshare—:BY 108 [ 107 [ 105 | 1651106 | 107 | 104 | 103 | 104 | 101
(07 Marks)
c. Calculate: Karl Pearson’s coefficient-of c correlatlon for the followmg paired data:
X |28 |21[40 3835 33140 32 (3633 | v
Y |23 34|33 |34 30| 26528 | 31 | 36|38 | a7
_ 2 (10 Marks)
2 a. Distinguish between Corre%on and Regressmn (03 Marks)

b. The he1ghts of mothers and daughters are gw%n 1in the following ta"”ble From the tables of
regression estimate the expected average hmg;t“of daughter whgn the height of the mother is
64.5 inch. A e o ® £
Height of mother, X inches | 62 [ 63 64 | 64 | 65 | 66 W 7(}

Height ofdaughter Y inches 64 65| 61 | 69 67 |68 71 | 65
mwsm (07 Marks)

c. Calculamhe coefficient of cgrrclatmn by Karl Pearsom ’s method from the following table:
Overhead (in 000 Rs) | 80+ 904100 | 110 | 120 130 [ 140 [ 150 | 160
Cost (in 000 Rs.) faks?i‘ J5] 16 | 19 s 17 18 | 16 | 18 | 19

ey o / :;“” (10 Marks)

P % e
3 & erte the probablh@ densu'y function of normal distribution and characteristics of normal
" distribution. B (03 Marks)

b. Given the mean helght of students “ima class is 158 c¢m with standard deviation of 20 cm.
Find how mang “students heights lie between 150 cm and 170 cm if there are 100 students in
the class. -~ & (07 Marks)

c. In an intelligence test adn‘f%stered to 500 students and data is normally distributed the
average score was 42 and standard deviation was 24. Find:

(i) The number of students whose score exceeded 50.
(i) The number of students who scored between 30 and 40

(ii1) The numbem?f students who scored above 60. (10 Marks)

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 = 50, will be treated as malpractice.

Important Note - 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Explain the uses of time series ana1y51s
The sales of lathes in the last 3 years is given below. Use“fhe method of simple averages to

determine seasonal index of each month.
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(03 Marks)

Month | Jan | Feb | Mar | April | May | June | July | Aug | Sept | Oct | Nov | Dec
2009 16 | 17 | 19 19 24 24 Rl 29 30 | 34 | 34 | 39
2010 | 22 | 21 | 27 | 26 | 30 | 22.9=21 | 27 | 31 | 367133 | 43
2011 28 | 28 | 38 39 39 | _?;3‘ S033 | 37 | 41 0 |- 56
: (07 Marks)

populations?

(10 Marks)

Write the objectlves of studying;aéme series analysis and vaf‘iations in time series. (03 Marks)
A sample of size 10 was.taken from a population stanﬁ%a:d deviation of sample is 0.03. Find

the maximum error W:tﬁ»%% confidence. 4
The quarterly sales for%ars from 2008-2011 1s gf%n below. Use ratio to moving average

method to determm%seasonal indexes:

Quarterf Saies in Rs. (Thousands) |-
4 | I | II | Ive
;008‘* 77 62 | 56 | 61
%09 85 | 64 | 624 79
L2010 | 91 | 73 | 67 86
2011 102 | 80 | 74 /| 95

Explain the different steps in hypothesis te“sm%
A survey was conduéted to determine the age (in years) of 1%0 automoblles

Ageof Auto = |0-4|4-8|8-12712-16|16-20
Number of Auto | 13 | 29 485 22 e
Find the ! Medlan age, Modal age m Mean age. =

Write: the*types of measures of dispersxon

(07 Marks)

(03 Marks)
(07 Marks)

(10 Marks)

(03 Marks)

The average breaking s&ﬁ}ag’sh of steel rods mspemﬁed to be 18.5 thousand pounds. To test
_this sample of 14 rods were tested. The mean- and standard deviations obtained were 17.85
- and 1.955 respectively. Is the result of experiment significant?
c: ---»Calculate Spearma“ﬁ::.s‘ tank correlation

(07 Marks)

coefficient between demand and sales from the

Demand X :%

64 | 75

50 5&

T80

ii)

40

55

64

Sales Y - §Z

58 | 68

45

8160

68

48

50

70

(10 Marks)

Company’s trainees are gafiglpmly divided into 3 groups of 10 each and are given a course in
management skills by 3 different methods. At the end of the training period, they are given a
test and their scores are-as follows:

Method A |99 |£64 | 101 | 85 |79 |88 97| 95 |90 | 100
Method B | 83 102|125 | 61 | 91]96] 94| 89 713
Method C 89‘% 98 | 56 | 105 |87 9087|101

Use Kruskal-Walli’s test (K-W test) to determine at
methods aquually effective.
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